

100 S. Mill Ave Suite 1700 Tempe, AZ 85281 877-725-4257

Rock Island-Milan School District 41 2000 7th Ave Rock Island IL 61201 United States 

 Date
 4/8/2025

 Quote No.
 Q-114014

 Acct. No.
 12208672

 Total
 3,250.00

 Pricing Expires
 08/05/2025

Payment Term	Contract Start	Contract End
Net 30	8/1/2025	7/31/2026

Site	Description	End Date	Qty	Per Unit	Amount
Rock Island-Milan School District 41					
	MyPath New Reading or Math Reusable License	07/31/2026	50	50.00	2,500.00
	PL - CW/Supp/SS Virtual Session	07/31/2026	1	750.00	750.00

Subtotal	3,250.00
Tax Total	0.00
Total	3,250.00

Imagine Learning will audit enrollment count throughout the year. If more enrollments are found to be in use than purchased, Imagine Learning will invoice the customer for the additional usage.

This quote is subject to Imagine Learning LLC Standard Terms and Conditions . These Terms and Conditions are available at <a href="https://www.imaginelearning.com/standard-terms-and-conditions">www.imaginelearning.com/standard-terms-and-conditions</a>, may change without notice and are incorporated by this reference. By signing this quote or by submitting a purchase order or form purchasing document, Customer explicitly agrees to these Terms and Conditions resulting in a legally binding agreement. To the fullest extent permitted under applicable law, all pricing information contained in this quote is confidential, and may not be shared with third parties without Imagine Learning's written consent.

ROCK ISIANG-IVIIIAN SCHOOL	imagine Learning Representative
District 41	
Signature:	Bob Furlin
Print Name:	Account Executive -
Title:	bob.furlin@imaginelearning.com
Date:	imaginethefutureoflearning.com

Thank you for your partnership. Please sign and return this quote with a copy of your purchase agreement.



100 S. Mill Ave Suite 1700 Tempe, AZ 85281 877-725-4257

Denkmann Rock Island-Milan School District 41 2000 7th Ave Rock Island IL 61201 United States 

 Date
 4/28/2025

 Quote No.
 Q-142400

 Acct. No.
 12208672

 Total
 1,791.65

 Pricing Expires
 10/21/2025

Payment Term	Contract Start	Contract End
Net 30	7/1/2025	9/8/2026

Site	Description	Comments	End Date	Qty	Per Unit	Amount
Rock Island-Milan School District 41						
	IM Mathematics Student Single User - Grade 6		09/08/2026	47	21.00	987.00
	IM Mathematics Student Units 1-3 - Grade 6 - B&W		09/08/2026	44	5.50	242.00
	IM Mathematics Student Units 4-6 - Grade 6 - B&W		09/08/2026	45	5.50	247.50
	IM Mathematics Student Units 7-9 - Grade 6 - B&W		09/08/2026	44	5.50	242.00
	Shipping and Handling (ILC)	Shipping and Handling fee covers all physical materials listed above for the duration of the term.	09/08/2026	1	73.15	73.15

 Subtotal
 1,791.65

 Tax Total
 0.00

 Total
 1,791.65

Imagine Learning will audit enrollment count throughout the year. If more enrollments are found to be in use than purchased, Imagine Learning will invoice the customer for the additional usage.

This quote is subject to Imagine Learning LLC Standard Terms and Conditions . These Terms and Conditions are available at <a href="https://www.imaginelearning.com/standard-terms-and-conditions">www.imaginelearning.com/standard-terms-and-conditions</a>, may change without notice and are incorporated by this reference. By signing this quote or by submitting a purchase order or form purchasing document, Customer explicitly agrees to these Terms and Conditions resulting in a legally binding agreement. To the fullest extent permitted under applicable law, all pricing information contained in this quote is confidential, and may not be shared with third parties without Imagine Learning's written consent.

Imagine Learning Representative
Susan Jones
Account Executive -
susan.jones@imaginelearning.com
imaginethefutureoflearning.com



100 S. Mill Ave Suite 1700 Tempe, AZ 85281 877-725-4257

Earl Hanson Rock Island-Milan School District 41 2000 7th Ave Rock Island IL 61201 United States 

 Date
 4/28/2025

 Quote No.
 Q-142404

 Acct. No.
 12208672

 Total
 2,128.70

 Pricing Expires
 10/21/2025

Payment Term	Contract Start	Contract End
Net 30	7/1/2025	9/8/2026

Site	Description	Comments	End Date	Qty	Per Unit	Amount
Rock Island-Milan School District 41						
	IM Mathematics Student Single User - Grade 6		09/08/2026	37	21.00	777.00
	IM Mathematics Student Single User - Grade 7		09/08/2026	20	21.00	420.00
	IM Mathematics Student Units 1-3 - Grade 6 - B&W		09/08/2026	58	5.50	319.00
	IM Mathematics Student Units 4-6 - Grade 6 - B&W		09/08/2026	17	5.50	93.50
	IM Mathematics Student Units 7-9 - Grade 6 - B&W		09/08/2026	22	5.50	121.00
	IM Mathematics Student Units 1-3 - Grade 7 - B&W		09/08/2026	17	5.50	93.50
	IM Mathematics Student Units 4-6 - Grade 7 - B&W		09/08/2026	20	5.50	110.00
	IM Mathematics Student Units 7-9 - Grade 7 - B&W		09/08/2026	20	5.50	110.00
	Shipping and Handling (ILC)	Shipping and Handling fee covers all physical materials listed above for the duration of the term.	09/08/2026	1	84.70	84.70

 Subtotal
 2,128.70

 Tax Total
 0.00

 Total
 2,128.70

Imagine Learning will audit enrollment count throughout the year. If more enrollments are found to be in use than purchased, Imagine Learning will invoice the customer for the additional usage.

This quote is subject to Imagine Learning LLC Standard Terms and Conditions . These Terms and Conditions are available at <a href="https://www.imaginelearning.com/standard-terms-and-conditions">www.imaginelearning.com/standard-terms-and-conditions</a>, may change without notice and are incorporated by this reference. By signing this quote or by submitting a purchase order or form purchasing document, Customer explicitly agrees to these Terms and Conditions resulting in a legally binding agreement. To the fullest extent permitted under applicable law, all pricing information contained in this quote is confidential, and may not be shared with third parties without Imagine Learning's written consent.

Rock Island-Milan School	Imagine Learning Representative
District 41	
Signature:	Susan Jones
Print Name:	Account Executive -
Title:	susan.jones@imaginelearning.com
Date:	imaginethefutureoflearning.com



100 S. Mill Ave **Suite 1700** Tempe, AZ 85281 877-725-4257

Eugene Field Rock Island-Milan School District 41 2000 7th Ave Rock Island IL 61201 **United States** 

**Date** 4/28/2025 Quote No. Q-142407 Acct. No. 12208672 Total 2,687.80 **Pricing Expires** 10/21/2025

Payment Term	Contract Start	Contract End
Net 30	7/1/2025	9/8/2026

Site	Description	Comments	End Date	Qty	Per Unit	Amount
Rock Island-Milan School District 41						
	IM Mathematics Student Single User - Grade 6		09/08/2026	60	21.00	1,260.00
	IM Mathematics Student Units 1-3 - Grade 6 - B&W		09/08/2026	82	5.50	451.00
	IM Mathematics Student Units 4-6 - Grade 6 - B&W		09/08/2026	81	5.50	445.50
	IM Mathematics Student Units 7-9 - Grade 6 - B&W		09/08/2026	73	5.50	401.50
	Shipping and Handling (ILC)	Shipping and Handling fee covers all physical materials listed above for the duration of the term.	09/08/2026	1	129.80	129.80

Subtotal 2,687.80 **Tax Total** 0.00 **Total** 2,687.80

Imagine Learning will audit enrollment count throughout the year. If more enrollments are found to be in use than purchased, Imagine Learning will invoice the customer for the additional usage.

This quote is subject to Imagine Learning LLC Standard Terms and Conditions . These Terms and Conditions are available at <a href="www.imaginelearning.com/standard-rems">www.imaginelearning.com/standard-rems</a> and <a href="www.imaginelearning.com/standard-rems">www.imaginelearning.com/standard-rems</a> are sufficiently a sufficient and terms-and-conditions, may change without notice and are incorporated by this reference. By signing this quote or by submitting a purchase order or form purchasing document, Customer explicitly agrees to these Terms and Conditions resulting in a legally binding agreement. To the fullest extent permitted under applicable law, all pricing information contained in this quote is confidential, and may not be shared with third parties without Imagine Learning's written consent.

Rock Island-Milan School	Imagine Learning Representative
District 41	
Signature:	Susan Jones
Print Name:	Account Executive -
Title:	susan.jones@imaginelearning.con
Date:	imaginethefutureoflearning.com



100 S. Mill Ave Suite 1700 Tempe, AZ 85281 877-725-4257

Frances Willard Rock Island-Milan School District 41 2000 7th Ave Rock Island IL 61201 United States 

 Date
 4/28/2025

 Quote No.
 Q-142408

 Acct. No.
 12208672

 Total
 1,349.60

 Pricing Expires
 10/21/2025

Payment Term	Contract Start	Contract End
Net 30	7/1/2025	9/8/2026

ĺ	Site	Description	Comments	End Date	Qty	Per Unit	Amount
	Rock Island-Milan School District 41						
İ		IM Mathematics Student Single User - Grade 6		09/08/2026	32	21.00	672.00
İ		IM Mathematics Student Units 1-3 - Grade 6 - B&W		09/08/2026	40	5.50	220.00
İ		IM Mathematics Student Units 4-6 - Grade 6 - B&W		09/08/2026	31	5.50	170.50
İ		IM Mathematics Student Units 7-9 - Grade 6 - B&W		09/08/2026	41	5.50	225.50
		Shipping and Handling (ILC)	Shipping and Handling fee covers all physical materials listed above for the duration of the term.	09/08/2026	1	61.60	61.60

 Subtotal
 1,349.60

 Tax Total
 0.00

 Total
 1,349.60

Imagine Learning will audit enrollment count throughout the year. If more enrollments are found to be in use than purchased, Imagine Learning will invoice the customer for the additional usage.

This quote is subject to Imagine Learning LLC Standard Terms and Conditions . These Terms and Conditions are available at <a href="https://www.imaginelearning.com/standard-terms-and-conditions">www.imaginelearning.com/standard-terms-and-conditions</a>, may change without notice and are incorporated by this reference. By signing this quote or by submitting a purchase order or form purchasing document, Customer explicitly agrees to these Terms and Conditions resulting in a legally binding agreement. To the fullest extent permitted under applicable law, all pricing information contained in this quote is confidential, and may not be shared with third parties without Imagine Learning's written consent.

ative
ng.com
om



100 S. Mill Ave Suite 1700 Tempe, AZ 85281 877-725-4257

Longfellow Elementary School 4198 7th Ave Rock Island IL 61201 United States 

 Date
 5/1/2025

 Quote No.
 Q-142413

 Acct. No.
 12208672

 Total
 1,041.40

 Pricing Expires
 10/21/2025

Payment Term	Contract Start	Contract End
Net 30	7/1/2025	9/8/2026

Site	Description	Comments	End Date	Qty	Per Unit	Amount
Rock Island-Milan School District 41						
	IM Mathematics Student Units 1-3 - Grade 6 - B&W		09/08/2026	23	5.50	126.50
	IM Mathematics Student Units 4-6 - Grade 6 - B&W		09/08/2026	26	5.50	143.00
	IM Mathematics Student Units 7-9 - Grade 6 - B&W		09/08/2026	19	5.50	104.50
	IM Mathematics Student Single User - Grade 6		09/08/2026	30	21.00	630.00
	Shipping and Handling (ILC)	Shipping and Handling fee covers all physical materials listed above for the duration of the term.	09/08/2026	1	37.40	37.40

 Subtotal
 1,041.40

 Tax Total
 0.00

 Total
 1,041.40

Imagine Learning will audit enrollment count throughout the year. If more enrollments are found to be in use than purchased, Imagine Learning will invoice the customer for the additional usage.

This quote is subject to Imagine Learning LLC Standard Terms and Conditions . These Terms and Conditions are available at <a href="https://www.imaginelearning.com/standard-terms-and-conditions">www.imaginelearning.com/standard-terms-and-conditions</a>, may change without notice and are incorporated by this reference. By signing this quote or by submitting a purchase order or form purchasing document, Customer explicitly agrees to these Terms and Conditions resulting in a legally binding agreement. To the fullest extent permitted under applicable law, all pricing information contained in this quote is confidential, and may not be shared with third parties without Imagine Learning's written consent.

Longfellow Elementary	Imagine Learning Representative
School	
Signature:	Susan Jones
Print Name:	Account Executive -
Title:	susan.jones@imaginelearning.com
Date:	imaginethefutureoflearning.com



100 S. Mill Ave Suite 1700 Tempe, AZ 85281 877-725-4257

Ridgewood Rock Island-Milan School District 41 2000 7th Ave Rock Island IL 61201 United States 

 Date
 4/28/2025

 Quote No.
 Q-142419

 Acct. No.
 12208672

 Total
 1,237.15

 Pricing Expires
 10/21/2025

Payment Term	Contract Start	Contract End
Net 30	7/1/2025	9/8/2026

Site	Description	Comments	End Date	Qty	Per Unit	Amount
Rock Island-Milan School District 41						
	IM Mathematics Student Units 1-3 - Grade 6 - B&W		09/08/2026	24	5.50	132.00
	IM Mathematics Student Single User - Grade 6		09/08/2026	35	21.00	735.00
	IM Mathematics Student Units 4-6 - Grade 6 - B&W		09/08/2026	34	5.50	187.00
	IM Mathematics Student Units 7-9 - Grade 6 - B&W		09/08/2026	25	5.50	137.50
	Shipping and Handling (ILC)	Shipping and Handling fee covers all physical materials listed above for the duration of the term.	09/08/2026	1	45.65	45.65

 Subtotal
 1,237.15

 Tax Total
 0.00

 Total
 1,237.15

Imagine Learning will audit enrollment count throughout the year. If more enrollments are found to be in use than purchased, Imagine Learning will invoice the customer for the additional usage.

This quote is subject to Imagine Learning LLC Standard Terms and Conditions . These Terms and Conditions are available at <a href="https://www.imaginelearning.com/standard-terms-and-conditions">www.imaginelearning.com/standard-terms-and-conditions</a>, may change without notice and are incorporated by this reference. By signing this quote or by submitting a purchase order or form purchasing document, Customer explicitly agrees to these Terms and Conditions resulting in a legally binding agreement. To the fullest extent permitted under applicable law, all pricing information contained in this quote is confidential, and may not be shared with third parties without Imagine Learning's written consent.

Rock Island-Milan School	Imagine Learning Representative
District 41	
Signature:	Susan Jones
Print Name:	Account Executive -
Title:	susan.jones@imaginelearning.con
Date:	imaginethefutureoflearning.com



100 S. Mill Ave **Suite 1700** Tempe, AZ 85281 877-725-4257

RI Academy Rock Island-Milan School District 41 2000 7th Ave Rock Island IL 61201 **United States** 

**Date** 4/28/2025 Quote No. Q-142412 Acct. No. 12208672 Total 2,163.60 **Pricing Expires** 10/21/2025

Payment Term	Contract Start	Contract End
Net 30	7/1/2025	9/8/2026

Site	Description	Comments	End Date	Qty	Per Unit	Amount
Rock Island-Milan School District 41						
	IM Mathematics Student Units 1-3 - Grade 6 - B&W		09/08/2026	44	5.50	242.00
	IM Mathematics Student Units 4-6 - Grade 6 - B&W		09/08/2026	47	5.50	258.50
	IM Mathematics Student Units 7-9 - Grade 6 - B&W		09/08/2026	41	5.50	225.50
	IM Mathematics Student Single User - Grade 6		09/08/2026	65	21.00	1,365.00
	Shipping and Handling (ILC)	Shipping and Handling fee covers all physical materials listed above for the duration of the term.	09/08/2026	1	72.60	72.60

**Subtotal** 2,163.60 **Tax Total** 0.00 **Total** 2,163.60

Imagine Learning will audit enrollment count throughout the year. If more enrollments are found to be in use than purchased, Imagine Learning will invoice the customer for the additional usage.

This quote is subject to Imagine Learning LLC Standard Terms and Conditions . These Terms and Conditions are available at <a href="www.imaginelearning.com/standard-rems">www.imaginelearning.com/standard-rems</a> and Conditions are available at <a href="www.imaginelearning.com/standard-rems">www.imaginelearning.com/standard-rems</a> and Conditions are available at <a href="www.imaginelearning.com/standard-rems">www.imaginelearning.com/standard-rems</a> and Conditions are available at <a href="www.imaginelearning.com/standard-rems">www.imaginelearning.com/standard-rems</a> and Conditions are available at <a href="www.imaginelearning.com/standard-rems">www.imaginelearning.com/standard-rems</a> and Conditions are available at <a href="www.imaginelearning.com/standard-rems">www.imaginelearning.com/standard-rems</a> and <a href="www.imaginelearning.com/standard-rems">www.imaginelearning.com/standard-rems</a> and <a href="www.imaginelearning.com/standard-rems">www.imaginelearning.com/standard-rems</a> and <a href="www.imaginelearning.com/standard-rems">www.imaginelearning.com/standard-rems</a> and <a href="www.imaginelearning.com/standard-rems">www.imaginelearning.com/standard-rems</a> and <a href="www.imaginelearning.com/standard-rems">www.imaginelearning.com/standard-rems</a> are sufficiently a sufficient and terms-and-conditions, may change without notice and are incorporated by this reference. By signing this quote or by submitting a purchase order or form purchasing document, Customer explicitly agrees to these Terms and Conditions resulting in a legally binding agreement. To the fullest extent permitted under applicable law, all pricing information contained in this quote is confidential, and may not be shared with third parties without Imagine Learning's written consent.

Rock Island-Milan School	Imagine Learning Representative
District 41	
Signature:	Susan Jones
Print Name:	Account Executive -
Title:	susan.jones@imaginelearning.con
Date:	imaginethefutureoflearning.com



100 S. Mill Ave Suite 1700 Tempe, AZ 85281 877-725-4257

RICMS
Rock Island-Milan School District 41
2000 7th Ave
Rock Island IL 61201
United States

 Date
 4/28/2025

 Quote No.
 Q-142418

 Acct. No.
 12208672

 Total
 2,367.85

 Pricing Expires
 10/21/2025

Payment Term	Contract Start	Contract End
Net 30	7/1/2025	9/8/2026

Site	Description	Comments	End Date	Qty	Per Unit	Amount
Rock Island-Milan School District 41						
	IM Mathematics Student Units 1-3 - Grade 6 - B&W		09/08/2026	59	5.50	324.50
	IM Mathematics Student Units 4-6 - Grade 6 - B&W		09/08/2026	70	5.50	385.00
	IM Mathematics Student Units 7-9 - Grade 6 - B&W		09/08/2026	68	5.50	374.00
	IM Mathematics Student Single User - Grade 6		09/08/2026	56	21.00	1,176.00
	Shipping and Handling (ILC)	Shipping and Handling fee covers all physical materials listed above for the duration of the term.	09/08/2026	1	108.35	108.35

 Subtotal
 2,367.85

 Tax Total
 0.00

 Total
 2,367.85

Imagine Learning will audit enrollment count throughout the year. If more enrollments are found to be in use than purchased, Imagine Learning will invoice the customer for the additional usage.

This quote is subject to Imagine Learning LLC Standard Terms and Conditions . These Terms and Conditions are available at <a href="https://www.imaginelearning.com/standard-terms-and-conditions">www.imaginelearning.com/standard-terms-and-conditions</a>, may change without notice and are incorporated by this reference. By signing this quote or by submitting a purchase order or form purchasing document, Customer explicitly agrees to these Terms and Conditions resulting in a legally binding agreement. To the fullest extent permitted under applicable law, all pricing information contained in this quote is confidential, and may not be shared with third parties without Imagine Learning's written consent.

Imagine Learning Representative
Susan Jones
Account Executive -
susan.jones@imaginelearning.com
imaginethefutureoflearning.com



100 S. Mill Ave Suite 1700 Tempe, AZ 85281 877-725-4257

Thomas Jefferson Rock Island-Milan School District 41 2000 7th Ave Rock Island IL 61201 United States 

 Date
 4/28/2025

 Quote No.
 Q-142415

 Acct. No.
 12208672

 Total
 1,387.70

 Pricing Expires
 10/21/2025

Payment Term	Contract Start	Contract End
Net 30	7/1/2025	9/8/2026

l	Site	Description	Comments	End Date	Qty	Per Unit	Amount
- 1	Rock Island-Milan School District 41						
İ		IM Mathematics Student Units 1-3 - Grade 6 - B&W		09/08/2026	31	5.50	170.50
İ		IM Mathematics Student Units 4-6 - Grade 6 - B&W		09/08/2026	32	5.50	176.00
İ		IM Mathematics Student Units 7-9 - Grade 6 - B&W		09/08/2026	31	5.50	170.50
İ		IM Mathematics Student Single User - Grade 6		09/08/2026	39	21.00	819.00
		Shipping and Handling (ILC)	Shipping and Handling fee covers all physical materials listed above for the duration of the term.	09/08/2026	1	51.70	51.70

 Subtotal
 1,387.70

 Tax Total
 0.00

 Total
 1,387.70

Imagine Learning will audit enrollment count throughout the year. If more enrollments are found to be in use than purchased, Imagine Learning will invoice the customer for the additional usage.

This quote is subject to Imagine Learning LLC Standard Terms and Conditions . These Terms and Conditions are available at <a href="https://www.imaginelearning.com/standard-terms-and-conditions">www.imaginelearning.com/standard-terms-and-conditions</a>, may change without notice and are incorporated by this reference. By signing this quote or by submitting a purchase order or form purchasing document, Customer explicitly agrees to these Terms and Conditions resulting in a legally binding agreement. To the fullest extent permitted under applicable law, all pricing information contained in this quote is confidential, and may not be shared with third parties without Imagine Learning's written consent.

Rock Island-Milan School	Imagine Learning Representative
District 41	
Signature:	Susan Jones
Print Name:	Account Executive -
Title:	susan.jones@imaginelearning.con
Date:	imaginethefutureoflearning.com



100 S. Mill Ave **Suite 1700** Tempe, AZ 85281 877-725-4257

Thurgood Marshall Rock Island-Milan School District 41 2000 7th Ave Rock Island IL 61201 **United States** 

**Date** 4/28/2025 Quote No. Q-142417 Acct. No. 12208672 **Total** 315.00 **Pricing Expires** 10/21/2025

Payment Term	Contract Start	Contract End
Net 30	7/1/2025	9/8/2026

Site	Description	End Date	Qty	Per Unit	Amount
Rock Island-Milan School District 41					
	IM Mathematics Student Single User - Grade 6	09/08/2026	5	21.00	105.00
	IM Mathematics Student Single User - Grade 7	09/08/2026	5	21.00	105.00
	IM Mathematics Student Single User - Grade 8	09/08/2026	5	21.00	105.00

Subtotal	315.00
Tax Total	0.00
Total	315.00

Imagine Learning will audit enrollment count throughout the year. If more enrollments are found to be in use than purchased, Imagine Learning will invoice the customer for the additional usage.

This quote is subject to Imagine Learning LLC Standard Terms and Conditions . These Terms and Conditions are available at <a href="https://www.imaginelearning.com/standard-rems">www.imaginelearning.com/standard-rems</a> and Conditions are available at <a href="https://www.imaginelearning.com/standard-rems">www.imaginelearning.com/standard-rems</a> and Conditions are available at <a href="https://www.imaginelearning.com/standard-rems">www.imaginelearning.com/standard-rems</a> and Conditions are available at <a href="https://www.imaginelearning.com/standard-rems">www.imaginelearning.com/standard-rems</a> and Conditions are available at <a href="https://www.imaginelearning.com/standard-rems">www.imaginelearning.com/standard-rems</a> and Conditions are available at <a href="https://www.imaginelearning.com/standard-rems">www.imaginelearning.com/standard-rems</a> and <a href="https://www.imaginelearning.com/standard-rems">www.imaginelearning.com/standard-rems</a> and <a href="https://www.imaginelearning.com/standard-rems">www.imaginelearning.com/standard-rems</a> and <a href="https://www.imaginelearning.com/standard-rems">www.imaginelearning.com/standard-rems</a> and <a href="https://www.imaginelearning.com/standard-rems">www.imaginelearning.com/standard-rems</a> and <a href="https://www.imaginelearning.com/standard-rems">www.imaginelearning.com/standard-rems</a> and <a href="https://www.imaginelearning.com/standard-rems">www.imaginelearning.com/standard-rems</a> and <a href="https://www.imaginelearning.com/standard-rems">www.imaginelearning.com/standard-rems</a> and <a href="https://www.imaginelearning.com/standard-rems">www.imaginelearning.com/standard-rems</a> and <a href="https://www.imaginelearning.com/standard-rems">www.imaginelearning.com/standard-rems</a> and <a href="https://www.imaginelearning.com/standard-rems">www.imaginelearning.com/standard-rems</a> and <a href="https://www.imaginelearning.com/standard-rems">www.imaginelearning.com/standard-rems</a> and <a href="https://www.imaginelearning.com/standardterms-and-conditions, may change without notice and are incorporated by this reference. By signing this quote or by submitting a purchase order or form purchasing document, Customer explicitly agrees to these Terms and Conditions resulting in a legally binding agreement. To the fullest extent permitted under applicable law, all pricing information contained in this quote is confidential, and may not be shared with third parties without Imagine Learning's written consent.

Rock Island-Milan School District 41	Imagine Learning Representative
Signature:	Susan Jones
Print Name:	Account Executive -
Title:	susan.jones@imaginelearning.com
Date:	imaginethefutureoflearning.com



100 S. Mill Ave Suite 1700 Tempe, AZ 85281 877-725-4257

Edison Rock Island-Milan School District 41 2000 7th Ave Rock Island IL 61201 United States 

 Date
 4/28/2025

 Quote No.
 Q-142416

 Acct. No.
 12208672

 Total
 14,311.55

 Pricing Expires
 10/21/2025

Payment Term	Contract Start	Contract End
Net 30	7/1/2025	9/8/2026

Site	Description	Comments	End Date	Qty	Per Unit	Amount
Rock Island-Milan School District 41						
	IM Mathematics Student Single User - Grade 7		09/08/2026	196	21.00	4,116.00
	IM Mathematics Student Single User - Grade 8		09/08/2026	200	21.00	4,200.00
	IM Mathematics Student Units 1-3 - Grade 7 - B&W		09/08/2026	163	5.50	896.50
	IM Mathematics Student Units 4-6 - Grade 7 - B&W		09/08/2026	144	5.50	792.00
	IM Mathematics Student Units 7-9 - Grade 7 - B&W		09/08/2026	143	5.50	786.50
	IM Mathematics Student Units 1-3 - Grade 8 - B&W		09/08/2026	191	5.50	1,050.50
	IM Mathematics Student Units 4-6 - Grade 8 - B&W		09/08/2026	181	5.50	995.50
	IM Mathematics Student Units 7-9 - Grade 8 - B&W		09/08/2026	169	5.50	929.50
	Shipping and Handling (ILC)	Shipping and Handling fee covers all physical materials listed above for the duration of the term.	09/08/2026	1	545.05	545.05

 Subtotal
 14,311.55

 Tax Total
 0.00

 Total
 14,311.55

Imagine Learning will audit enrollment count throughout the year. If more enrollments are found to be in use than purchased, Imagine Learning will invoice the customer for the additional usage.

This quote is subject to Imagine Learning LLC Standard Terms and Conditions . These Terms and Conditions are available at <a href="https://www.imaginelearning.com/standard-terms-and-conditions">www.imaginelearning.com/standard-terms-and-conditions</a>, may change without notice and are incorporated by this reference. By signing this quote or by submitting a purchase order or form purchasing document, Customer explicitly agrees to these Terms and Conditions resulting in a legally binding agreement. To the fullest extent permitted under applicable law, all pricing information contained in this quote is confidential, and may not be shared with third parties without Imagine Learning's written consent.

Rock Island-Milan School	Imagine Learning Representative
District 41	
Signature:	Susan Jones
Print Name:	Account Executive -
Title:	susan.jones@imaginelearning.com
Date:	imaginethefutureoflearning.com



100 S. Mill Ave **Suite 1700** Tempe, AZ 85281 877-725-4257

Rock Island-Milan School District 41 2000 7th Ave Rock Island IL 61201 **United States** 

**Date** 5/1/2025 Quote No. Q-142340 Acct. No. 12208672 Total 15,000.00 **Pricing Expires** 10/21/2025

Payment Term	Contract Start	Contract End
Net 30	7/1/2025	6/30/2026

Site	Description	Comments	End Date	Qty
Rock Island-Mila School District 4				
	PL - Core Onsite Day		06/30/2026	3
	Shipping and Handling (ILC)	Shipping and Handling fee covers all physical materials listed above for the duration of the term.	06/30/2026	1

**Subtotal** 15,000.00 **Tax Total** 0.00 **Total** 15,000.00

Imagine Learning will audit enrollment count throughout the year. If more enrollments are found to be in use than purchased, Imagine Learning will invoice the customer for the additional usage.

This quote is subject to Imagine Learning LLC Standard Terms and Conditions . These Terms and Conditions are available at <a href="www.imaginelearning.com/standard-rems">www.imaginelearning.com/standard-rems</a> and Conditions are available at <a href="www.imaginelearning.com/standard-rems">www.imaginelearning.com/standard-rems</a> and Conditions are available at <a href="www.imaginelearning.com/standard-rems">www.imaginelearning.com/standard-rems</a> and Conditions are available at <a href="www.imaginelearning.com/standard-rems">www.imaginelearning.com/standard-rems</a> and Conditions are available at <a href="www.imaginelearning.com/standard-rems">www.imaginelearning.com/standard-rems</a> and Conditions are available at <a href="www.imaginelearning.com/standard-rems">www.imaginelearning.com/standard-rems</a> and <a href="www.imaginelearning.com/standard-rems">www.imaginelearning.com/standard-rems</a> and <a href="www.imaginelearning.com/standard-rems">www.imaginelearning.com/standard-rems</a> and <a href="www.imaginelearning.com/standard-rems">www.imaginelearning.com/standard-rems</a> and <a href="www.imaginelearning.com/standard-rems">www.imaginelearning.com/standard-rems</a> and <a href="www.imaginelearning.com/standard-rems">www.imaginelearning.com/standard-rems</a> are sufficiently a sufficient and terms-and-conditions, may change without notice and are incorporated by this reference. By signing this quote or by submitting a purchase order or form purchasing document, Customer explicitly agrees to these Terms and Conditions resulting in a legally binding agreement. To the fullest extent permitted under applicable law, all pricing information contained in this quote is confidential, and may not be shared with third parties without Imagine Learning's written consent.

Rock Island-Milan School	Imagine Learning Representative
District 41	
Signature:	Susan Jones
Print Name:	Account Executive -
Title:	susan.jones@imaginelearning.com
Date:	imaginethefutureoflearning.com



100 S. Mill Ave Suite 1700 Tempe, AZ 85281 877-725-4257

Washington Rock Island-Milan School District 41 2000 7th Ave Rock Island IL 61201 United States 

 Date
 4/28/2025

 Quote No.
 Q-142414

 Acct. No.
 12208672

 Total
 20,189.00

 Pricing Expires
 10/21/2025

Payment Term	Contract Start	Contract End
Net 30	7/1/2025	9/8/2026

Site	Description	Comments	End Date	Qty	Per Unit	Amount
Rock Island-Milan School District 41						
	IM Mathematics Student Units 1-3 - Grade 7 - B&W		09/08/2026	272	5.50	1,496.00
	IM Mathematics Student Units 4-6 - Grade 7 - B&W		09/08/2026	236	5.50	1,298.00
	IM Mathematics Student Units 7-9 - Grade 7 - B&W		09/08/2026	131	5.50	720.50
	IM Mathematics Student Units 1-3 - Grade 8 - B&W		09/08/2026	286	5.50	1,573.00
	IM Mathematics Student Units 4-6 - Grade 8 - B&W		09/08/2026	301	5.50	1,655.50
	IM Mathematics Student Units 7-9 - Grade 8 - B&W		09/08/2026	254	5.50	1,397.00
	IM Mathematics Student Single User - Grade 8		09/08/2026	289	21.00	6,069.00
	IM Mathematics Student Single User - Grade 7		09/08/2026	246	21.00	5,166.00
	Shipping and Handling (ILC)	Shipping and Handling fee covers all physical materials listed above for the duration of the term.	09/08/2026	1	814.00	814.00

 Subtotal
 20,189.00

 Tax Total
 0.00

 Total
 20,189.00

Imagine Learning will audit enrollment count throughout the year. If more enrollments are found to be in use than purchased, Imagine Learning will invoice the customer for the additional usage.

This quote is subject to Imagine Learning LLC Standard Terms and Conditions . These Terms and Conditions are available at <a href="https://www.imaginelearning.com/standard-terms-and-conditions">www.imaginelearning.com/standard-terms-and-conditions</a>, may change without notice and are incorporated by this reference. By signing this quote or by submitting a purchase order or form purchasing document, Customer explicitly agrees to these Terms and Conditions resulting in a legally binding agreement. To the fullest extent permitted under applicable law, all pricing information contained in this quote is confidential, and may not be shared with third parties without Imagine Learning's written consent.

Rock Island-Milan School	Imagine Learning Representative
District 41	
Signature:	Susan Jones
Print Name:	Account Executive -
Title:	susan.jones@imaginelearning.com
Date:	imaginethefutureoflearning.com